Math 121, Test 3, Section # : Name;

No graphing calculators or electronic communication of any kind. If you need extra paper please ask.
Credit will be awarded for correct content and clarity of presentation. This test has 100 points. Try to at
least attempt each part. Please clearly box your answer in each guestion.

1. [100pts) Graph the inequalities y > 2> — 5 + 6 and y — 2 < 0. Shade the solution set.
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2. [200pts] Suppose that 0 < z < 2and 2 < 2y and y < 4 — x constrain the objective function
z = & — y -+ 3. Find the maximum and minimum values for z subject to the given constraints. Use the
method of linear programming to find the solution.
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3. [100pts} Find the points of intersection of the graph of the equation 22 + y°* =4 and y + 2z = 2
Verify your algebraic solution with a graph of both egquations
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4. {100pts] Find an ellipse of the form =% /u® + 4°/b® = 1 whose graph mc]udes the pomts {(1,3) and
(0.4).
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. {100pts] Find the points of intersection of 2 + y* = 4 and 2 — y* = 1. Draw a picture and think
about your algebra. Are you sure you got all the solutions?
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6. [100pts] Find the equation of a2 parabola through the points (0,1), {1,3), {-1, 4}.
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7.[150pts]Solve the following system of equations:
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9.[100pts])Given the information below, read off the solutions.

r—y+tz= 3 -1 1
T2y +z= has rref (1 2 1
2

22 -2y -—-2:=0

11 1 1 -1 1
10.{100pts] Suppose that A = (O 1 0 ) has the multiplicative inverse A1 = (0 1 0 ) Solve
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the following system of equations given in matrix form below by multiplying by the inverse matrix given

above.
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11. {200pts] Suppose that A = (i 'I) and B = (U 9). Calculate
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12. [100pts] Calculate the following:
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BONUS[50pts]: What's the area of a triangle with vertices {0,-1), (0,2} and (3,0)?
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